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Multi Tasking Non Technical Staff and Havaldar CBIC and CBN
Examination 2022

[Roll Number

Candidate
Name

Venue Name |Vibrant Assessment Centre
Exam Date 03/05/2023
Exam Time 9:00 AM - 10:30 AM

Subiect MTS Non Tech Havaldar CBIC and CBN
) Examination 2022

Section : Numerical and Mathematical Ability

Q.1  The following bar graph shows the number of males. number of females and total population of four different villages.
Find the total number of children in the four villages.

Total population = Number of Males + Number of Females + Number of Children.

8 Total population Number of Males = Number of Females

Mumber Of People
NEEEREE N

Ans X' 1. 000
X 2. 940
3. 860
X 4. 760

Question Type : MCQ
Question ID : 264330135430
Option 1 ID : 264330530630
Option 2 ID : 264330530627
Option 3 ID : 264330530628
Option 4 ID : 264330530629

Status : Answered
Chosen Option : 3

Q.2 XandY together can do a piece of work in 30 days. Z alone can do it in 60 days. If they worked together. then in how
many days they can finish the work?

Ans X' 1. 50 days
X 2. 25 days
X 3. 45 days
« 4. 20 days

Question Type : MCQ
Question ID : 264330133640
Option 1 ID : 264330523584
Option 2 ID : 264330523585
Option 3 ID : 264330523583
Option 4 ID : 264330523586

Status : Answered
Chosen Option : 4
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Q.3 A person sold an article ar a loss of 4%, Had he sold it at a gain of 1%¢. he would have received Rs.42.5 more. To gain
18%%. what must be his selling price?
Ans X 1. Rs.756
X 2. Rs.900
« 3 Rs.1003
X 4 Rs.850
Question Type : MCQ
Question ID : 264330135420
Option 1 ID : 264330530588
Option 2 ID : 264330530587
Option 3 ID : 264330530590
Option 4 ID : 264330530589
Status : Answered
Chosen Option : 3
Q4 The value of [0.004 X {5 + (21 — 6) X 3} + 0.8] lies between:
Ans X 1. 0and 0.4
X2 1.0and 1.4
+ 3 0.5and 0.9
X4 1.5and 1.9
Question Type : MCQ
Question ID : 264330135109
Option 1 ID : 264330529371
Option 2 ID : 264330529373
Option 3 ID : 264330529372
Option 4 ID : 264330529374
Status : Answered
Chosen Option : 3
Q.5 Find the difference between compound interest and simple interest for 2 years on a sum of Rs. 11000 at a rate
of 11% per anmum.
Ans X' 1. Rs. 121.1
X 2 Rs. 155.6
+ 3 Rs.133.1
X 4. Rs. 144.4
Question Type : MCQ
Question ID : 264330135381
Option 1 ID : 264330530431
Option 2 ID : 264330530434
Option 3 ID : 264330530432
Option 4 ID : 264330530433
Status : Answered
Chosen Option : 3
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Q.6 If 750 is divided into two parts such that the ratio of one to the other is in the ratio 8 : 7, then find the smallest mumber.

Chosen Option :

Ans X 1. 135
<2 120
3. 350
<4 90
Question Type : MCQ
Question ID : 264330135422
Option 1 ID : 264330530598
Option 2 ID : 264330530597
Option 3 ID : 264330530595
Option 4 ID : 264330530596
Status : Answered
Chosen Option : 3
Q7 Successive discount of 15% and 35% is equivalent to a single discount of:
Ans X' 1. 42.28%
X2 12.5%
¥ 3 44.75%
<4 33.33%
Question Type : MCQ
Question ID : 264330135421
Option 1 ID : 264330530594
Option 2 ID : 264330530593
Option 3 ID : 264330530591
Option 4 ID : 264330530592
Status : Answered
Chosen Option : 3
Q.8 Asumof Rs.11500 amounts to Rs.12880 in 2 years at the rate of simple interest. What is the rate of Interest?
Ans p 1. 6% per annum
X 2. 4% per annum
X 3. 8% per annum
X 4. 10% per annum
Question Type : MCQ
Question ID : 264330133683
Option 1 ID : 264330523756
Option 2 ID : 264330523757
Option 3 ID : 264330523755
Option 4 ID : 264330523758
Status : Answered

1
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Q.9 The speed of a boat in still water is 44 knvhr and the speed of a stream is 26 kin/he. Find the upstream speed of boat.
Ans X 1. 12 knvhr

« 2. 18 ki/hr

X 3. 13 kivvhr

X 4 14 km/hr

Question Type : MCQ
Question ID : 264330135426
Option 1 ID : 264330530614
Option 2 ID : 264330530611
Option 3 ID : 264330530612
Option 4 ID : 264330530613
Status : Answered
Chosen Option : 2

Q.10 The price of sugar is increased by 40%. By what percentage must one cut down on the consumption of sugar so that no
extra amount has to be ineurred on sugar?

Ans X 1.33.5%
¥ 2 285 %
< 3. 66.6 %
K4 26.6%

Question Type : MCQ
Question ID : 264330135374
Option 1 ID : 264330530403
Option 2 ID : 264330530405
Option 3 ID : 264330530406
Option 4 ID : 264330530404
Status : Answered
Chosen Option : 2

Q11 If the area of a square is 529 cm?, then what is the length of its diagonal?
Ans X 1. 23 cm

X2 26v3 cm

¥3 23\2 cm

X4 46 cm

Question Type : MCQ
Question ID : 264330133645
Option 1 ID : 264330523605
Option 2 ID : 264330523604
Option 3 ID : 264330523603
Option 4 ID : 264330523606
Status : Answered
Chosen Option : 3
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Q.12 P alone can complete a work in 15 days and Q alone can complete the same work in 12 days. They start the work

together but after 3 days P leaves the worke How much time will Q) takes to finish the remaining work?

Ans X 1. 7.2 days
X 2. 7.8 days
X 3. 8.5 days
« 4. 6.6 days
Question Type : MCQ
Question ID : 264330137322
Option 1 ID : 264330537917
Option 2 ID : 264330537915
Option 3 ID : 264330537916
Option 4 ID : 264330537918
Status : Answered
Chosen Option : 4
Q.13  Marks of 4 students are given in the table. All the marks are out of 100. Taking all the six subjects together.
approximately how much total percentage has been scored by Ravina?
Marks
Student
Name e ) Social . L .
Hindi English Seience M Comp
Kavita 84 82 74 9 90
Anuradha 62 7 E] 55
Anchal 56 60 64 55 68 62
Ravina 20 s 8 70 % 7
Ans X 1. 74%
X2 71%
X 3. 75%
o 4. T8%
Question Type : MCQ
Question ID : 264330135125
Option 1 ID : 264330529436
Option 2 ID : 264330529437
Option 3 ID : 264330529435
Option 4 ID : 264330529438
Status : Answered
Chosen Option : 4
Q.14 The length of rwo parallel sides of a trapezium are 15 metre and 20 metre. If its height is 22 metre, then what is the area
of the trapezium?
Ans X 1. 295 metre?
+ 2. 385 metre?
# 3. 425 metre?
X 4. 315 metre?
Question Type : MCQ
Question ID : 264330137337
Option 1 ID : 264330537976
Option 2 ID : 264330537975
Option 3 ID : 264330537978
Option 4 ID : 264330537977
Status : Answered
Chosen Option : 2
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Q.15 Inamatch. average mns scored by 4 batsmen is 48. If the runs scored by three barsmen are 58. 28 and 24 respectively.

then how many runs did the fourth plaver score?

Ans X' 1 658
2. 82
X3 72
K4 04
Question Type : MCQ
Question ID : 264330137628
Option 1 ID : 264330539119
Option 2 ID : 264330539120
Option 3 ID : 264330539121
Option 4 ID : 264330539122
Status : Answered
Chosen Option : 2
Q16 IfA:Bis 7:4andA - B =0, then what is the value of A + B?
Ans X 1. 21
X2 23
X3 40
W4 33
Question Type : MCQ
Question ID : 264330135423
Option 1 ID : 264330530600
Option 2 ID : 264330530601
Option 3 ID : 264330530599
Option 4 ID : 264330530602
Status : Answered
Chosen Option : 4
Q.17 The average age of six brothers is 15 vears. If their father is also included, the average is inereased by 7 vears. Find the
age of the father (in years).
Ans X 1. 44 vears
K 2. 77 years
« 3. 64 years
X 4. 60 years
Question Type : MCQ
Question ID : 264330135415
Option 1 ID : 264330530570
Option 2 ID : 264330530568
Option 3 ID : 264330530569
Option 4 ID : 264330530567
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON

Google Play

Q.18 Three metal rods of length 77 em, 110 em and 121 cm are to be cut into parts of equal length. Each part must be as long

as possible. What is the maximum number of pieces that can be ent?
Ans X' 1 18
o 2. 28
23 11
X4 21
Question Type : MCQ
Question ID : 264330138091
Option 1 ID : 264330540973
Option 2 ID : 264330540974
Option 3 ID : 264330540972
Option 4 ID : 264330540971
Status : Answered
Chosen Option : 3
Q.19 A man buys 21 mangoes for a rupee. How many mangoes had he sold for a rupee so that there is a loss of 30 percent?
Ans « 1. 30
X2 40
K3 35
X4 25
Question Type : MCQ
Question ID : 264330138021
Option 1 ID : 264330540694
Option 2 ID : 264330540693
Option 3 ID : 264330540692
Option 4 ID : 264330540691
Status : Answered
Chosen Option : 4
Q20 Find the value of 221 +207 - 3 of 44 + 7 % 4
Ans X 1. 333
2 324
X3 320
X 4 355
Question Type : MCQ
Question ID : 264330135412
Option 1 ID : 264330530556
Option 2 ID : 264330530555
Option 3 ID : 264330530558
Option 4 ID : 264330530557
Status : Answered
Chosen Option : 2

Section : Reasoning Ability and Problem Solving
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Q.1  Select the option that is related to the fifth number in the same way as the second number is related to the first number
and fourth number is related to third number,
5:127:6:218:3:7
Ans 1. 20
<2 30
X3 42
X4 28
Question Type : MCQ
Question ID : 264330135576
Option 1 ID : 264330531203
Option 2 ID : 264330531206
Option 3 ID : 264330531205
Option 4 ID : 264330531204
Status : Answered
Chosen Option : 1
Q2 which two signs should be interchanged to make the given equation correct?
63=56-88~+11-15
Ans w1 _and =
X2 +and~+
X3 +and-
X4 +and=
Question Type : MCQ
Question ID : 264330133402
Option 1 ID : 264330522640
Option 2 ID : 264330522641
Option 3 ID : 264330522642
Option 4 ID : 264330522639
Status : Answered
Chosen Option : 1
Q.3 After interchanging the given two signs, what will be the value of the given equation?
<xand +:24x8+6+3—18
Ans X 1. 24
K223
3. 22
<420
Question Type : MCQ
Question ID : 264330135632
Option 1 1D : 264330531428
Option 2 ID : 264330531430
Option 3 ID : 264330531429
Option 4 ID : 264330531427
Status : Answered
Chosen Option : 3
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Q.4 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TP. VM. XJ. ZG. ?

Ans 1. D
X2 CE
« 3 BD
X4 BE

Question Type : MCQ
Question ID : 264330135615
Option 1 1D : 264330531361
Option 2 ID : 264330531362
Option 3 ID : 264330531360
Option 4 ID : 264330531359

Status : Answered
Chosen Option : 3

Q.5 1y the following question. select the missing number of the given series.

100, 105,92, 113, 84, 7
Ans X 1 118

X2 122

&3 121

X4 120

Question Type : MCQ
Question ID : 264330135629
Option 1 ID : 264330531416
Option 2 ID : 264330531417
Option 3 ID : 264330531418
Option 4 ID : 264330531415

Status : Answered
Chosen Option : 3
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Q.6 In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion logically follows the given statements.
Statements:

L Some B are A,

IL Ne CisB.

Conclusion:

INoCisA

I NeBisC.

Ans X 1. Both conclusions I and II follows

+ 2. Only conclusion II follows
X 3. Only conclusion I follows

& 4. Neither conclusion follows

Question Type : MCQ
Question ID : 264330135626
Option 1 ID : 264330531405
Option 2 ID : 264330531404
Option 3 ID : 264330531403
Option 4 ID : 264330531406
Status : Answered
Chosen Option : 2
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Ans

X 3.

Q7 Which answer figure will complete the pattern in the question figure?

Question Type :
Question ID :
Option 11D :
Option 2 ID :

Option 3 ID

Status

Mca

264330135636
264330531444
264330531446

: 264330531445
Option 4 ID :

264330531443

: Answered
Chosen Option :

4
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Q.8  Sslect the correct mirror image of the given figure when the mirror MN is placed to the right side of the figure.

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
264330135018
264330529010
264330529008
264330529007
264330529009
Answered

1
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Q9 1n the following question. select the missing number of the given series.

115, 117, 119, 121, 123, 2
Ans 1 [25

X2 131

X3 127

X4 124

Question Type : MCQ
Question ID : 264330135574
Option 1 ID : 264330531197
Option 2 ID : 264330531198
Option 3 ID : 264330531196
Option 4 ID : 264330531195

Status : Answered

Chosen Option : 1

Q.10 six girls Tanya, Puja, Richa, Neha, Nisha and Arpita are sitting around a circular table facing towards the centre (not
necessarily in the same order). Tanva and Puja are also sitting next to each other. Neha and Nisha are sitting next to sach
other, Only two girls are sitting between Richa and Tanya. Puja is to the immediate left of Arpita. Neha is not sitting
next to Tanya. Who is to the immediate left of Tanya?

Ans X 1. Arpita
+ 2. Nisha
X 3. Puja
X 4. Richa

Question Type : MCQ
Question ID : 264330135624
Option 11D : 264330531397
Option 2 ID : 264330531395
Option 3 ID : 264330531396
Option 4 ID : 264330531398
Status : Answered
Chosen Option : 2

Q.11  Select the option that is related to the fifth term in the same way as the second term is relatad to the first term and fourth
term is related to third term,

AR37: DW44 = PQ43 - SV50 ;: GF31 19
Ans X 1. JI38

X 2. KK38

« 3. JK38

X 4 KM38

Question Type : MCQ
Question ID : 264330135617
Option 1 ID : 264330531370
Option 2 ID : 264330531368
Option 3 ID : 264330531367
Option 4 ID : 264330531369
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON

Google Play

Ans

Q.12 Words given on the left side of (::) are related with each other by some Logic Rule/Relation. Select the missing

word word pair on the right side of ;) from the given alternatives based on the same Logic/Ruls/Relation.

Rodent : Rat :: ?

« 1. Crockery : Cup

« 2. Man : Mammal
X 3. Pen : Stationery

X 4. Reptile : Elephant

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status

mcQ

264330135618
264330531372
264330531374
264330531371
264330531373

: Answered
Chosen Option :

1

Ans

X 1. QBYQP
X 2. YQBPQ
X 3. QYBPQ
« 4 QBYPQ

Q.13 Ina certain code language, WAMED' is written as 'MBLFC". How will RAZOR' be written in that languags?

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330137834
264330539943
264330539946
264330539945
264330539944
Answered

4

Ans

& 1. PYJIMC
X 2. PZIIMB
« 5. PYJIMB
X 4. PYKKMC

Q.14 Ina certain code language, ‘FOLDER' is coded as ‘PCBIMD’. What is the code for ‘DOLLAR in that code language?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

mcaQ

264330137114
264330537101
264330537102
264330537099
264330537100

: Answered
Chosen Option :

3
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Q.15 Select the option in which the numbers shares the same relationship in set as that shared by the numbers in the given set.
(NOTE: Operations should be performed on the whole mumbers, without breaking down the numbers into its constituent
digits. E.g.13 — Operations on 13 such as adding /subtracting ‘multiplying etc. to 13 can be performed. Breaking down
13 into | and 3 and then performing mathematical operations on | and 3 is not allowed)

(12, 60, 5)
(14, 56, 4)

Ans X 1.(7,70,8)
X2 (20,5.7)

3 (10, 100, 10)
X 4 (4,20, 8)

Question Type : MCQ
Question ID : 264330135631
Option 1 1D : 264330531425
Option 2 ID : 264330531424
Option 3 ID : 264330531423
Option 4 ID : 264330531426
Status : Answered
Chosen Option : 3
Q.16 Inacertain code language, 'HUMP is written as 'GTLO' and TIKE' is written as *KHID®. How will PLAY" be written
in thar language?
Ans X 1. OJZX
X 2. QKZX
« 3 OKZX
X 4 OKYX
Question Type : MCQ
Question ID : 264330133565
Option 1 ID : 264330523285
Option 2 ID : 264330523286
Option 3 ID : 264330523283
Option 4 ID : 264330523284
Status : Answered
Chosen Option : 3
Q.17 Six boys Rahul. Ram, Ramesh, Sohan, Sahil and Anil are sitring in a row facing towards north (not necessarily in the
same order). Rahul is fourth to the left of Anil. Ram is second to the right of Sohan. Ramesh is second to the right of
Ram. Anil is not sitting on the extreme ends of the row,
Who is sitting second to the right of Rahul?
Ans .z 1. Sahi
« 2. Anil
« 3. Sphan
# 4. Ram
Question Type : MCQ
Question ID : 264330135623
Option 1 1D : 264330531392
Option 2 ID : 264330531394
Option 3 ID : 264330531391
Option 4 ID : 264330531393
Status : Answered
Chosen Option : 1
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S

1.

X 4.

Q.18  Select the option figure in which the given figurs (X) is embedded as its part (rotation is NOT allowed).

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

mcaQ

264330135017
264330529005
264330529004
264330529006

: 264330529003
Status :
Chosen Option :

Answered
1
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Q.19 1In the following question below are given some statements followed by some conclusions based on those statemenrs.

Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given statements,

Statements:

L. Seme men are weak.
I No weak is strong.
Conclusion:

L Seme weak are men.
I All strong are men.

TII. Some strong are weak.

Ans

X 1. Only conclusion IT follows

X 2. Both conclusions I and III follows

+ 3. Only conclusion I follows

X 4. All conclusion follows

Question Type : MCQ
Question ID : 264330135627
Option 1 ID : 264330531407
Option 2 ID : 264330531408
Option 3 ID : 264330531409
Option 4 ID : 264330531410
Status : Answered
Chosen Option : 2

Q.20 Price of five cars B, M, T, N and U ave compared. Price of T is less than U7, M and N. Price of B is the least. No two cars
have the same price. Price of U iz less than M. Price of neither U7 nor M is the highest. Price of how many cars is less
than the price of M?

Ans  #1 3
X2 2
X3 4
X4 1

Question Type : MCQ
Question ID : 264330135625
Option 1 ID : 264330531400
Option 2 ID : 264330531402
Option 3 ID : 264330531401
Option 4 ID : 264330531399
Status : Answered
Chosen Option : 1

Section : General Awareness
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Q1

Ans

Who ascended the throne after the death of Ghiyvasuddin Tughlaq?

+ 1. Mohammad bin Tughlaq
X 2. Mahmud Tughlaq

& 3. Khusrau Khan
& 4. Mubarak Khan

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330135448
264330530701
264330530700
264330530699
264330530702
Answered

1

Ans

+ 1. Tamil Nadu

# 2. Maharashtra

# 3. Andhra Pradesh
< 4. Kerala

Q2 The Pudhumai Penn scheme is launched by which state government?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330135484
264330530845
264330530846
264330530843
264330530844
Answered

4

Ans

Q.3 The National Rural Employment Programme was merged with

X 1. Indira Awas Yojana

X 2. Rural Landless Employment Guarantee Programme

X 3. Employment Assurance Scheme

« 4. Jawahar Rozgar Yojana

in 1989.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
264330133993
264330524995
264330524997
264330524996
264330524998
Answered

4
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following dance?

Q.4 Rukmini Devi was featured in India Today’s list of * 100 People Who Shaped India’. She was awarded with ‘Padma
Bhushan' in the year 1956 and the *Sangeet Natak Akademi Fellowship® in 1267, She was associated with which of the

Chosen Option :

Ans 1. Bharatnatyam
X 2. Kathakali
X 3. Odissi
X 4. Manipuri
Question Type : MCQ
Question ID : 264330137055
Option 11D : 264330536866
Option 2 ID : 264330536865
Option 3 ID : 264330536864
Option 4 ID : 264330536863
Status : Not Answered
Chosen Option : --
@5 Suggi is a famous folk dance form of state of India.
Ans 1. Karnataka
X 2. Chhattisgarh
X 3. Punjab
X 4. Sikkim
Question Type : MCQ
Question ID : 264330135486
Option 1 ID : 264330530853
Option 2 ID : 264330530852
Option 3 ID : 264330530851
Option 4 ID : 264330530854
Status : Answered
Chosen Option : 2
Q.6 InIndia, a microfinance loan is defined as a collateral-free loan given to a household having an annual income of up to
Rs as of October 2022,
Ans X 1. Rs 1 lakh
X 2. Rs 8 lakhs
+ 3. Rs 3 lakhs
X 4. Rs 5 lakhs
Question Type : MCQ
Question ID : 264330137060
Option 1 ID : 264330536885
Option 2 ID : 264330536886
Option 3 ID : 264330536884
Option 4 ID : 264330536883
Status : Not Answered
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Q7 Which of the following is the richest source of vitamin C?
Ans 1. Lemon
X 2. Cow milk
« 3. Potato
# 4. Cucumber
Question Type : MCQ
Question ID : 264330135441
Option 11D : 264330530672
Option 2 ID : 264330530671
Option 3 ID : 264330530674
Option 4 ID : 264330530673
Status : Answered
Chosen Option : 1
Q8 YWhat type of energy conversion takes place in a battery?
Ans X 1. Chemical energy into light energy
« 2. Chemical energy into electrical energy
X 3. Mechanical energy into chemical energy
X 4. Chemical energy into sound energy
Question Type : MCQ
Question ID : 264330135439
Option 1 1D : 264330530663
Option 2 ID : 264330530666
Option 3 ID : 264330530665
Option 4 ID : 264330530664
Status : Answered
Chosen Option : 2
Q.9  According to 2011 Census, which among the following union territories has the lowest sex ratio?
Ans X 1. Andaman & Nicobar Island
+ 2. Daman and Diu
X 3. Lakshadweep
X 4. Dadra and Nagar Haveli
Question Type : MCQ
Question ID : 264330137980
Option 11D : 264330540528
Option 2 ID : 264330540530
Option 3 ID : 264330540529
Option 4 ID : 264330540527
Status : Answered
Chosen Option : 2
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Q.10

Ans

"Dreams From My Father" is an autobiography of

X 1. Benito Mussolini
X 2. Anne Frank
X 3. Benjamin Franklin

« 4. Barack Obama

Question Type : MCQ
Question ID : 264330137053
Option 1 ID : 264330536855
Option 2 ID : 264330536856
Option 3 ID : 264330536857
Option 4 ID : 264330536858
Status : Answered
Chosen Option : 2
Q.11 Which among the following songs was composed by famons Indian musician Rahul Dev Burman?
Ans 1 Yeh Dosti Hum Nahi Todenge
X 2. Kesariva
« 3. Kisi Ki Muskurahaton Pe Ho Nisar
X 4. Ae Dil Hai Mushkil
Question Type : MCQ
Question ID : 264330135502
Option 1 ID : 264330530916
Option 2 ID : 264330530918
Option 3 ID : 264330530917
Option 4 ID : 264330530915
Status : Not Answered
Chosen Option : --
Q.12 The President of India shall be elected by the members of an electoral college consisting of:
L The elected members of both Houses of Parliament
II. The elected members of the I egislative Assemblies of the States.
Ans X 1. Both I and II
X 2. Only I
+ 3. Neither I nor II
X 4. Only I
Question Type : MCQ
Question ID : 264330135505
Option 1 ID : 264330530929
Option 2 ID : 264330530927
Option 3 ID : 264330530930
Option 4 ID : 264330530928
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

Q.13 InJanuary 2022, India signed a USD 374.96-million deal with the . its single biggest defence export order.
Ans 1. Philippines

X 2. Tran

A 3. United Arab Emirates

« 4. Iraq

Question Type : MCQ
Question ID : 264330137045
Option 11D : 264330536826
Option 2 ID : 264330536824
Option 3 ID : 264330536823
Option 4 ID : 264330536825
Status : Answered
Chosen Option : 1

Q.14 Which component of the cell contains the hereditary material of the cell, the DNA?
Ans X 1. Cell Wall

+ 2. Nucleus

# 3. Cell Membrane

X 4. Cytoplasm

Question Type : MCQ
Question ID : 264330135490
Option 1 1D : 264330530869
Option 2 ID : 264330530868
Option 3 ID : 264330530870
Option 4 ID : 264330530867
Status : Answered
Chosen Option : 2

Q15 Megasthenes was a Greek ambassador in the court of

Ans 1. Chandragupta Maurya
X 2. Pushyamitra Shunga
« 3. Harshvardhana

X 4. Ashoka

Question Type : MCQ
Question ID : 264330134682
Option 11D : 264330527686
Option 2 ID : 264330527684
Option 3 ID : 264330527683
Option 4 ID : 264330527685
Status : Answered
Chosen Option : 1
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Q.16 The Deccan Plateau is a triangular landmass in India that lies to the south of the river

Ans X 1. Ganga
# 2. Krishna
X 3. Tapi
+ 4. Narmada
Question Type : MCQ
Question ID : 264330135494
Option 1 ID : 264330530883
Option 2 ID : 264330530885
Option 3 ID : 264330530886
Option 4 ID : 264330530884
Status : Answered
Chosen Option : 3
Q.17 In which sport, Bajrang Punia won a gold medal at the Commonwealth Games 20227
Ans X 1. Weightlifting
« 2. Wrestling
X 3. Boxing
X 4. Javelin Throw
Question Type : MCQ
Question ID : 264330135457
Option 11D : 264330530736
Option 2 ID : 264330530737
Option 3 ID : 264330530735
Option 4 ID : 264330530738
Status : Answered
Chosen Option : 2
Q18 The first High Court in India was established in
Ans X 1. 1860
o 2. 1862
< 3. 1867
< 4 1857
Question Type : MCQ
Question ID : 264330133892
Option 1 ID : 264330524592
Option 2 ID : 264330524593
Option 3 ID : 264330524594
Option 4 ID : 264330524591
Status : Answered
Chosen Option : 2
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Ans

+ 1. Santhal rebellion
X 2. Kol Rebellion

# 3. Ramosi Rebellion
# 4. Paika Rebellion

Q19 WWhich of the following Rebellion occurred between 1855-567

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
264330133904
264330524642
264330524640
264330524641
264330524639
Answered

1

Ans

# 1. November
2. April

X 3. August

X 4. January

Q.20 The ancient harvest festival of Baisakhi is celebrated in which month of the year?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330134672
264330527645
264330527643
264330527646
264330527644
Answered

2

Q.21

Ans

Lionel Messi is a famous player of

« 1. Basketball
+ 2. Football
X 3. Badminton
X 4. Cricket

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

mcQ

264330135506
264330530933
264330530931
264330530934
264330530932

: Answered
Chosen Option :

2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON

Google Play

Q22 Ramappa Temple is dedicated to which God?
Ans X 1. Lord Rama
X 2. Lord Vishnu
X 3. Lord Indra
+ 4 Lord Shiva
Question Type : MCQ
Question ID : 264330133883
Option 1 ID : 264330524555
Option 2 ID : 264330524556
Option 3 ID : 264330524558
Option 4 ID : 264330524557
Status : Answered
Chosen Option : 2
Q23 Nosses and lichens are found in which kind of forest?
Ans X 1. Tropical Rain Forest
X 2. Temperate Forest
& 3. Coniferous Forest
+ 4 Tundra Forest
Question Type : MCQ
Question ID : 264330135442
Option 1 ID : 264330530675
Option 2 ID : 264330530676
Option 3 ID : 264330530678
Option 4 ID : 264330530677
Status : Answered
Chosen Option : 1
Q.24 [nwhich of the following articles. “Equality of opportunity in matters of public employment” is mentioned?
Ans X 1. Article 14
A 2. Article 17
X 3. Article 15
« 4 Article 16
Question Type : MCQ
Question ID : 264330135504
Option 1 ID : 264330530923
Option 2 ID : 264330530926
Option 3 ID : 264330530924
Option 4 ID : 264330530925
Status : Answered
Chosen Option : 4
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Q.25 The

had slowly erept into them,

« 1. Namdhari Movement
+ 2. Akali Movement

X 3. Ghadar Movement
# 4. Nirankari Movement

was started by the Silkh reformers to purify their religious places by removing the evil social practices that

Ans

Question Type : MCQ
Question ID : 264330134685
Option 1 ID : 264330527696
Option 2 ID : 264330527695
Option 3 ID : 264330527698
Option 4 ID : 264330527697
Status : Answered
Chosen Option : 4
Section : English Language and Comprehension
Q1 Select the most appropriate option to fill in the blank.
An excellent career has now arisen with a leading recruitment agency.
Ans X 1. preferability
« 2. opportunity
« 3. division
X 4. severance
Question Type : MCQ
Question ID : 264330135281
Option 1 1D : 264330530041
Option 2 ID : 264330530040
Option 3 ID : 264330530042
Option 4 ID : 264330530039
Status : Answered
Chosen Option : 2
Q.2 select the most appropriate option to substinite the bracketed segment in the given sentence, If there is no need to
substifute it, select ‘no substitution required”.
The rodeo is (great way to unite soldier's skills and build) esprit de corps.
Ans 1. a great way to unite soldiers' skills and build
X 2. No substitution required
X 3. great way to unite soldier's skills and building
X 4. a great way to unite an soldier's skill and build
Question Type : MCQ
Question ID : 264330136512
Option 11D : 264330534791
Option 2 ID : 264330534794
Option 3 ID : 264330534792
Option 4 ID : 264330534793
Status : Answered
Chosen Option : 1
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Q.3 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’
| ate a few brown rice this morning.
Ans X 1. brown rice
o 2.l ate afew
#< 3. this morning.
75 4. No error
Question Type : MCQ
Question ID : 264330134320
Option 1 ID : 264330526272
Option 2 ID : 264330526271
Option 3 ID : 264330526273
Option 4 ID : 264330526274
Status : Answered
Chosen Option : 2
Q4 Choose the word that means the same as the given word.
Explicit
Ans X 1. Perfect
« 2. Specific
X 3. Nebulous
X 4. Vogue
Question Type : MCQ
Question ID : 264330134840
Option 1 ID : 264330528298
Option 2 ID : 264330528297
Option 3 ID : 264330528296
Option 4 ID : 264330528295
Status : Answered
Chosen Option : 1
Q5 Choose the word that can substitute the given group of words.
A house of shelter for a dog
Ans X 1. Barns
+ 2. Kennel
X 3. Den
X 4. Hangar
Question Type : MCQ
Question ID : 264330135271
Option 1 ID : 264330530001
Option 2 ID : 264330530000
Option 3 ID : 264330530002
Option 4 ID : 264330529999
Status : Answered
Chosen Option : 2
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Q.6 A sentence has been given with a blank to be filled with an appropriate option. Choose the cotrect altemative. A pair of
Eurasian jays

over the forest yesterday.

Ans X 1. did flew
o 2. flew
X3 fly

X 4. flown

Question Type : MCQ
Question ID : 264330134830
Option 1 ID : 264330528262
Option 2 ID : 264330528260
Option 3 ID : 264330528259
Option 4 ID : 264330528261
Status : Answered
Chosen Option : 2

Q.7 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
The waiter giving_the diners some complimentary mints.

Ans X 1.give the diner
< 2. given the diners
25 3. No improvement

«" 4. gave the diners

Question Type : MCQ
Question ID : 264330134506
Option 1 1D : 264330526987
Option 2 ID : 264330526989
Option 3 ID : 264330526990
Option 4 ID : 264330526988
Status : Answered
Chosen Option : 4

Q.8 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the IdiomPhrase.

To have an irching palm

Ans X 1. To have no mercy

X 2. To gain strength
X 3. To have an urge to slap
« 4. To be greedy for money

Question Type : MCQ
Question ID : 264330135277
Option 1 ID : 264330530025
Option 2 ID : 264330530024
Option 3 ID : 264330530026
Option 4 ID : 264330530023
Status : Answered
Chosen Option : 4
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Q.9

Choose the sentence with no spelling error.
Ans 1. They completely rely on your accessory.
X 2. They completely rely on your acessory.
X 3. They completlly rely on your accessory.

X 4. They completely relie on your accessory.

Question Type : MCQ
Question ID : 264330134820
Option 1 ID : 264330528222
Option 2 ID : 264330528220
Option 3 ID : 264330528221
Option 4 ID : 264330528219
Status : Answered
Chosen Option : 1

Q.10 Identify the segment that contains a grammatical error. If there is no error, select No error'.

Now its referring to the same/ big lug who met his fate/ thanks to David's slingshot.
Ans X 1. No error

X 2. thanks to David's slingshot.

X 3. big lug who met his fate

« 4. Now its referring to the same

Question Type : MCQ
Question ID : 264330136509
Option 1 1D : 264330534782
Option 2 ID : 264330534781
Option 3 ID : 264330534780
Option 4 ID : 264330534779
Status : Answered
Chosen Option : 3

Q1 Select the most appropriate option to fill in the blank.

Mr. Sharma opened the door of the stove to
Ans &1 peek

X 2. pike

X 3. piece

X 4. peak

Question Type : MCQ
Question ID : 264330134821
Option 1 ID : 264330528224
Option 2 ID : 264330528226
Option 3 ID : 264330528223
Option 4 ID : 264330528225
Status : Answered
Chosen Option : 4
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My parents have been lying to me since I was a kid.

Ans X 1. framing
X 2. stopping
X 3. crying
+ 4. misleading
Question Type : MCQ
Question ID : 264330135272
Option 1 ID : 264330530003
Option 2 ID : 264330530006
Option 3 ID : 264330530005
Option 4 ID : 264330530004
Status : Answered
Chosen Option : 4

Q.13 Choose the word that is opposite in meaning to the given word.
Subtracted

Ans X 1.Separated
& 2. Recap
¥ 3. Adjunct

#5 4. Annihilatory

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330134364
264330526439
264330526441
264330526442
264330526440
Answered

3

correct,

Ans s
< 2.
&< 3.
X 4.

Helen Keller was borne on 27 June 1880 in Tuscumbia.

was born on
was birth on
No improvement

is borne in

Q.14 Improve the underlined part of the sanfence. Choose *No improvement® as an answer if the sentence is grammatically

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
264330135287
264330530065
264330530064
264330530066
264330530063
Answered

1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

Q.15

Choose the incorrectly spelt word.

Ans 1. Obsreve
X 2. Club
# 3. Bulb
# 4. Thunder

Question Type : MCQ
Question ID : 264330135278
Option 1 1D : 264330530030
Option 2 ID : 264330530028
Option 3 ID : 264330530029
Option 4 ID : 264330530027
Status : Answered
Chosen Option : 1

Q16 Select the appropriate antonym for the underlined word.

We should have warned you that they were coming.
Ans X 1. waked

« 2. imperiled

X 3. predicted

X 4. prepared

Question Type : MCQ
Question ID : 264330135275
Option 1 1D : 264330530017
Option 2 ID : 264330530016
Option 3 ID : 264330530018
Option 4 ID : 264330530015
Status : Answered
Chosen Option : 2

Q.17  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Despite of technological innovations and powerful analytical tools, nothing is happening.

Ans X 1. and powerful analytical tools,

« 2. Despite of technological innovations
X 3. nothing is happening.

X 4. No error

Question Type : MCQ
Question ID : 264330135258
Option 11D : 264330529952
Option 2 ID : 264330529951
Option 3 ID : 264330529953
Option 4 ID : 264330529954
Status : Answered
Chosen Option : 2
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Q.18 A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.

We are getting support from a number of textile traders.
Ans X 1. larging
X 2. largest
X 3. largely
« 4. large
Question Type : MCQ
Question ID : 264330135262
Option 1 ID : 264330529967
Option 2 ID : 264330529970
Option 3 ID : 264330529969
Option 4 ID : 264330529968
Status : Answered
Chosen Option : 4
Q19 Choose the word that can substitute the given group of words.
That can be seen through
Ans X 1. Defatigable
« 2. Transparent
X 3. Opaque
X 4. Reverent
Question Type : MCQ
Question ID : 264330135192
Option 1 ID : 264330529695
Option 2 ID : 264330529696
Option 3 ID : 264330529697
Option 4 ID : 264330529698
Status : Answered
Chosen Option : 2
Q.20 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the ldiom/Phrase.
To get on one’s nerves
Ans X 1. To unnecessary stretch the conversation
X 2. To become highly successful
X 3. To get in someone’s mind
« 4. To irritate or provoke one
Question Type : MCQ
Question ID : 264330135198
Option 1 ID : 264330529721
Option 2 ID : 264330529720
Option 3 ID : 264330529719
Option 4 ID : 264330529722
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

The thought here is that because saliva is (1) alkaline, stimulating it by chewing gum
after eating (2) help neutralize the acidity in your mouth and throat. (3) a very
small study from 2005 did (4) some merit to this approach, the size of the study
makes it difficult to (5) any real conclusions.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.
Ans  # 1.slightly

< 2. slight
& 3. slightest
5 4. slighter
Question Type : MCQ
Question ID : 264330134355
Option 1 ID : 264330526406
Option 2 ID : 264330526405
Option 3 ID : 264330526404
Option 4 ID : 264330526403
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.
The thought here is that because saliva is (1) alkaline, stimulating it by chewing gum
after eating (2) help neutralize the acidity in your mouth and throat. (3) a very
small study from 2005 did (4) some merit to this approach, the size of the study
makes it difficult to (5) any real conclusions.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.shall
< 2.needto
#< 3. could
o 4. may
Question Type : MCQ
Question ID : 264330134356
Option 1 ID : 264330526410
Option 2 ID : 264330526407
Option 3 ID : 264330526409
Option 4 ID : 264330526408
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

The thought here is that because saliva is (1) alkaline, stimulating it by chewing gum
after eating (2) help neutralize the acidity in your mouth and throat. (3) a very
small study from 2005 did (4) some merit to this approach, the size of the study
makes it difficult to (5) any real conclusions.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.

Ans X 1.As
" 2. While
& 3.S0
< 4. Yet
Question Type : MCQ
Question ID : 264330134357
Option 1 ID : 264330526412
Option 2 ID : 264330526413
Option 3 ID : 264330526414
Option 4 ID : 264330526411
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.
The thought here is that because saliva is (1) alkaline, stimulating it by chewing gum
after eating (2) help neutralize the acidity in your mouth and throat. (3) avery
small study from 2005 did (4) some merit to this approach, the size of the study
makes it difficult to (5) any real conclusions.
SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.founded
< 2. found
& 3. find
75 4. finds
Question Type : MCQ
Question ID : 264330134358
Option 1 ID : 264330526416
Option 2 ID : 264330526417
Option 3 ID : 264330526418
Option 4 ID : 264330526415
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.
The thought here is that because saliva is (1) alkaline, stimulating it by chewing gum
after eating (2) help neutralize the acidity in your mouth and throat. (3) a very
small study from 2005 did (4) some merit to this approach, the size of the study
makes it difficult to (5) any real conclusions.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. draw
5 2. expel
&< 3.sell
X 4. repel

Question Type : MCQ
Question ID : 264330134359
Option 1 ID : 264330526422
Option 2 ID : 264330526421
Option 3 ID : 264330526419
Option 4 ID : 264330526420
Status : Answered
Chosen Option : 1
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